
§·¤æ§ü / Unit-I

1. ÂýÕ¢Ï·¤èØ ¥ÍüàææS˜æè ·¤õÙ ãñ´U? ÃØßâæØ ÂýÕ¢Ï ×ð´
©Uâ·¤è Öêç×·¤æ ¥õÚU ©UîæÚUÎæçØˆß ÂÚU Âý·¤æàæ ÇUæçÜ°Ð

Who is Managerial Economist ? Throw light
on his role and responsibilities in Business
Management.

¥Íßæ / OR

FD-101
M.Com 1st Semester

Examination, Dec.-Jan., 2021-22

Paper - I

Managerial Economics

Time : Three Hours] [Maximum Marks : 80
[Minimum Pass Marks : 16

ÙôÅU Ñ âÖè ÂýàÙæð´ ·ð¤ ©UîæÚU ÎèçÁ°Ð âÖè ÂýàÙæð´ ·ð¤ ¥¢·¤
â×æÙ ãñ´UÐ

Note : Answer all questions. All questions carry equal
marks.
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°·¤ È¤×ü ·ð¤ ©UgðàØ @Øæ ãñ´U? È¤×ü ·ð¤ ÜæÖ

¥çÏ·¤Ì×è·¤ÚU‡æ ×æòÇUÜ ·¤ô â¢ÿæðÂ ×ð´ â×Ûææ§°Ð

What are the objectives of a firm ? Explain
briefly profit maximising model of the firm.

§·¤æ§ü / Unit-II

2. ¥ßâÚU Üæ»Ì @Øæ ãñU? §â·¤è »‡æÙæ ·ñ¤âð ·¤è

ÁæÌè ãñU? °·¤ È¤×ü mæÚUæ âæÏÙô´ ·ð¤ ¥æÕ¢ÅUÙ ×ð´

¥ßâÚU Üæ»Ì ·ð¤ ×ãUˆß ·¤æ ß‡æüÙ ·¤èçÁ°Ð

What is Opportunity Cost ? How is it
calculated ? Describe the significance of
opportunity cost in allocation of resources
by the firm.

¥Íßæ / OR

ßëçhàæèÜ ¥ßÏæÚU‡ææ °ß¢ âè×æ‹Ì ¥ßÏæÚU‡ææ ×ð´

@Øæ ¥‹ÌÚU ãñU? ·¤Õ °·¤ ©UÂ·ý¤×è ·ð¤ ßëçhàæèÜ

çâhæ‹Ì mæÚUæ çÙ‡æüØ ÜðÙæ ßñÏ ×æÙæ ÁæÌæ ãñU?

What is the difference between incremental
concept and marginal concept ? When can
the decision by an entrepreneur be
considered valid according to incremental
principle ?
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§·¤æ§ü / Unit-III

3. ×æ¡» ·¤è ·¤è×Ì Üô¿ ·¤è Ÿæðç‡æØô´ ·¤è ÃØæBØæ
·¤èçÁ°Ð ×æ¡» ·¤è Üô¿ ·¤ô ×æÂÙð ·¤è ×éBØ çßçÏØô´
·¤è çßßð¿Ùæ ·¤èçÁ°Ð

Explain the degrees of price elasticity of
demand. Discuss the main methods adopted
to measure the elasticity of demand.

¥Íßæ / OR

×æ¡» ·ð¤ çÙØ× ·¤ô â×Ûææ§°Ð §â·ð¤ @Øæ-@Øæ
¥ÂßæÎ ãñ´U? ×æ¡» ß·ý¤ ·¤æ ÉUæÜ âÎñß Ùè¿ð ÎæçãUÙð
¥ôÚU @Øô´ ãUôÌæ ãñU?

Explain the law of demand. What are its
exceptions ? Why is demand curve always
slopes downwards to the right ?

§·¤æ§ü / Unit-IV

4. ×æ¡» ÂêßæüÙé×æÙ ·¤è ©UÂØôç»Ìæ ·¤è çßßð¿Ùæ ·¤èçÁ°Ð
°·¤ ¥‘ÀUè ÂêßæüÙé×æÙ çßçÏ ·ð¤ @Øæ »é‡æ ãñ´U?

Discuss the utility of demand forecasting.
What are the qualities of a good forecasting
method ?

¥Íßæ / OR
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DRG_5_(4) 1,340

ÌÅUSÍÌæ ß·ý¤ ·¤è âãUæØÌæ âð ©UÂÖô@Ìæ ·ð¤ â‹ÌéÜÙ
·¤è ÃØæBØæ ·¤èçÁ°Ð ¥æØ ×ð´ ÂçÚUßÌüÙ ©Uâ·ð¤
â‹ÌéÜÙ ·¤ô ·ñ¤âð ÂýÖæçßÌ ·¤ÚðU»æ?

Explain consumer’s equilibrium with the help
of indifference curves. How would a change
in income effect his equilibrium ?

§·¤æ§ü / Unit-V

5. ÒÂñ×æÙð ·ð¤ ÂýçÌÈ¤ÜÓ âð ¥æÂ @Øæ â×ÛæÌð ãñ´U?
Âñ×æÙð ·ð¤ ÂýçÌÈ¤Ü ·ð¤ çÙÏæüÚU·¤ Ìˆß ÕÌæ§°Ð

What do you understand by ‘Returns to
Scale’ ? Mention the determinants of Returns
to Scale.

¥Íßæ / OR

©UˆÂæÎÙ È¤ÜÙ ·¤è çßàæðáÌæ¥ô´ ·¤æ ß‡æüÙ ·¤èçÁ°Ð
¥ËÂ·¤æÜèÙ ¥õÚU Îèƒæü·¤æÜèÙ ©UˆÂæÎÙ È¤ÜÙ ×ð´
¥‹ÌÚU ·¤èçÁ°Ð

Explain the characteristics of production
function. Make a difference between short run
and long run production function.

———



§·¤æ§ü / Unit-I

1. ¥¢àææð´ ·ð¤ ãUÚU‡æ ·¤æ @Øæ ¥Íü ãñU? ¥¢àææð´ ·¤æ ãUÚU‡æ
·ñ¤âð ç·¤Øæ ÁæÌæ ãñU? @Øæ ãUÚU‡æ ç·¤° »° ¥¢àæ
ÕÅ÷UÅðU ÂÚU ÂéÙÑ çÙ»üç×Ì ç·¤° Áæ â·¤Ìð ãñ´U? ¥¢àææð´
·ð¤ ãUÚU‡æ ¥æñÚU ©Uâ·ð¤ ÂéÙÑ çÙ»ü×Ù ãðUÌé ÂýçßçcÅUØæ¡
ÎèçÁ°Ð

FD-102
M.Com. 1st Semester

Examination, Dec.-Jan., 2021-22

Paper - II

Advanced Accounting

Time : Three Hours] [Maximum Marks : 80

ÙôÅU Ñ âÖè ÂýàÙæð´ ·ð¤ ©UîæÚU ÎèçÁ°Ð âÖè ÂýàÙæð´ ·ð¤ ¥¢·¤
â×æÙ ãñ´UÐ

Note : Answer all questions. All questions carry equal
marks.
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What is the meaning of Forfeiture of Shares ?
How are shares forfeited ? Can forfeited
shares be re-issued at discount ? Give entries
for forfeiture and reissue of shares.

¥Íßæ / OR

âé×Ù ·¤`ÂÙè çÜç×ÅðUÇU Ùð G v®® ßæÜð v®®®® {'
«¤‡æÂ˜æ ·¤æ çÙ»ü×Ù â××êËØ ÂÚU v ¥ÂýñÜ, w®vx
·¤æð ç·¤ØæÐ Öé»ÌæÙ §â Âý·¤æÚU ÎðØ Íæ Ñ

¥æßðÎÙ ÂÚU G y®, ¥æÕ¢ÅUÙ ÂÚU G xz ÌÍæ Øæ¿Ùæ
ÂÚU G wz (v ¥»SÌ, w®vx ·¤æð)Ð vy®®® «¤‡æÂ˜ææð´
·ð¤ çÜ° ¥æßðÎÙ ÂýæŒÌ ãéU° ÌÍæ â`Âê‡æü ¥æßðÎÙ
ÚUæçàæ vz ×§ü, w®vx ·¤æð ÂýæŒÌ ãéU§üÐ ¥æÕ¢ÅUÙ v ÁêÙ,
w®vx ·¤æð ç·¤Øæ »Øæ ÌÍæ â`Âê‡æü ¥æÕ¢ÅUÙ ÚUæçàæ w®
ÁêÙ, w®vx ·¤æð ÂýæŒÌ ãéU§üÐ Øæ¿Ùæ ¥ÂÙè ÎðØ çÌçÍ
ÂÚU ·¤è »§ü ÌÍæ â`Âê‡æü Øæ¿Ùæ ÚUæçàæ ·¤æ Öé»ÌæÙ
w® ¥»SÌ, w®vx ·¤æð ÂýæŒÌ ãéU¥æÐ G y|® «¤‡æÂ˜ææð´
·ð¤ çÙ»ü×Ù ÂÚU ÃØØ ãéU°Ð ·¤`ÂÙè ·¤è ÂéSÌ·¤æð´ ×ð´
¥æßàØ·¤ ÁÙüÜ ÂýçßçcÅUØæ¡ ·¤èçÁ°Ð

Suman Company Limited issued 10000, 6%
Debentures of G 100 each at par on 1st April,
2013. Payable as follows :
On application G 40, on allotment G 35 and
on call G 25 (on 1st August, 2013).
Applications were received for 14000
Debentures and all the application money was
received by 15th May, 2013. Allotment was
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DRG_78_(15) (Continued)



( 3 )

made on 1st June, 2013 and allotment money
was received  in full on 20th  June, 2013.
The call was made on the due date and full
paid on 20th August, 2013. Expenses on issue
of debentures amount to G 470.

Pass the necessary journal entries in the books
of the company.

§·¤æ§ü / Unit-II

2. ¥æÅUæð ÂæÅü÷Uâ çÙ×æüÌæ ·¤`ÂÙè çÜ0 G v®,®®,®®® ·¤è
¥çÏ·ë¤Ì Âê¡Áè âð ÚUçÁSÅUÇüU ãéU§ü Áæð ç·¤ G v® ßæÜð
¥¢àææð´ ×ð´ çßÖæçÁÌ ãñU çÁâ×ð´ âð y®®®® ¥¢àæ
çÙ»üç×Ì °ß¢ Âê‡æü ÂýÎîæ ãñ´UÐ xv ×æ¿ü, w®vy ·¤æð
ÌÜÂÅU §â Âý·¤æÚU ãñU Ñ

çßßÚU‡æ çß·¤ÜÙ â×æ·¤ÜÙ
¥æçÏ@Ø ¥æçÏ@Ø
(G) (G)

S·¢¤Ï (v.y.w®vx) v,}{,yw® -

·ý¤Ø °ß¢ çß·ý¤Ø |,v},wv® vv,{~,~®®

ÂýˆØæØ vw,{}® ~,}z®

çÙ×æü‡æè ×ÁÎêÚUè v,®~,|y®

çÙ×æü‡æè ÃØØ v~,wy®

¥æß·¤ »æÇ¸Uè ÖæÇ¸Uæ y,~v®

v}' Õñ´·¤ «¤‡æ z®,®®®
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çßßÚU‡æ çß·¤ÜÙ â×æ·¤ÜÙ
¥æçÏ@Ø ¥æçÏ@Ø
(G) (G)

Õñ´·¤ «¤‡æ ÂÚU µØæÁ y,z®®

·¤æØæüÜØ ßðÌÙ v|,}|®

¥¢·ð¤ÿæ‡æ àæéË·¤ },{®®

â¢¿æÜ·¤æð´ ·¤æ ÂæçÚUŸæç×·¤ w{,wz®

ÂýæÚ¢UçÖ·¤ ÃØØ {,®®®

ÖßÙ v,{y,wv®

â¢Ø¢˜æ v,w},y®®

©UÂS·¤ÚU z,®®®

¹éÜð ¥æñÁæÚU vw,z®®

ÎðÙÎæÚU °ß¢ ÜðÙÎæÚU v,®z,y®® {w,ww®

ãUSÌSÍ ÚUæð·¤Ç¸U v~,zx®

¥çÏ·¤æðáSÍ ÚUæð·¤Ç¸U ~{,}{®

¥ç»ý× ·¤ÚU ·¤æ Öé»ÌæÙ }y,w~®

v.y.w®vx ·¤æð ÜæÖæÜæÖ x},{y®

¥¢àæ Âê¡Áè y,®®,®®®

v|,x®,{v® v|,x®,{v®
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¥æÂ·¤æð çÙ`ÙçÜç¹Ì â×æØæðÁÙ ·¤æð ŠØæÙ ×ð´ ÚU¹Ìð
ãéU° xv ×æ¿ü, w®vy ·¤æð â×æŒÌ ãéU° ßáü ·¤æ
ÜæÖæÜæÖ çßßÚU‡æ Â˜æ °ß¢ çSÍçÌ çßßÚU‡æ ÕÙæÙæ
ãñU Ñ

(i) xv ×æ¿ü, w®vy ·¤æð Õ·¤æØæ çÙ×æü‡æ ×ÁÎêÚUè
°ß¢ Õ·¤æØæ ·¤æØæüÜØ ßðÌÙ ·ý¤×àæÑ G v,}~®
°ß¢ G v,w®® ÍæÐ §âè çÌçÍ ·¤æð S·¢¤Ï ·¤æ
×êËØæ¢·¤Ù G v,wy,}y® °ß¢ ¹éÜð ¥æñÁæÚU
G v®,®®® ÍðÐ

(ii) Õñ´·¤ «¤‡æ ÂÚU { ×æãU ·¤æ µØæÁ ÎðÙæ ãñUÐ

(iii) â¢Ø¢˜æ ÂÚU vz' ·¤è ÎÚU âð ÌÍæ ©UÂS·¤ÚU ÂÚU
v®' ·¤è ÎÚU âð OïUæâ Ü»æÙæ ãñUÐ

(iv) ÂýæÚUç`Ö·¤ ÃØØæð´ ·¤æ  Öæ» ¥ÂÜðç¹Ì ·¤ÚUÙæ
ãñUÐ

(v) ¥æØ·¤ÚU ·ð¤ çÜ° z®' ·¤æ ¥æØæðÁÙ ÕÙæÙæ
ãñUÐ

(vi) â¢¿æÜ·¤æð´ Ùð xv ×æ¿ü, w®vy ·¤æð vz' ÜæÖæ¢àæ
ÂýSÌæçßÌ ç·¤Øæ, vx.®{}' ÜæÖæ¢àæ ·¤ÚU ×æçÙ°Ð

The Auto Parts Manufacturing Co. Ltd. was
registered with an Authorised Capital of
G 10,00,000 divided into shares of G 10 each
of which 40000 shares had been issued and
fully paid. The following is the Trial Balance
extracted on 31st March, 2014 :

( 5 )
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Particulars Debit Credit
Balance Balance
(G) (G)

Stock (1.4.2013) 1,86,420 -

Purchase and Sales 7,18,210 11,69,900

Returns 12,680 9,850

Manufacturing Wages 1,09,740

Manufacturing Expenses 19,240

Carriage Inwards 4,910

18% Bank loan 50,000

Interest on Bank loan 4,500

Office Salaries 17,870

Audit Fees 8,600

Directors Remuneration 26,250

Preliminary Expenses 6,000

Building 1,64,210

Plant 1,28,400

Furniture 5,000

Loose tools 12,500

Debtors and Creditors 1,05,400 62,220

( 6 )
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Particulars Debit Credit
Balance Balance
(G) (G)

Cash in hand 19,530

Cash at Bank 96,860

Advance payment of tax 84,290

Profit & Loss on 1.4.2013 38,640

Share Capital 4,00,000

17,30,610 17,30,610

You are required to prepare statement of Profit
& Loss for the year ended 31st March, 2014
and a Balance Sheet as at that date after
taking into consideration the following
adjustments :

(i) On 31st March, 2014 outstanding
manufacturing wages and outstanding
office salaries stood at G 1890 and
G 1,200 respectively. On the same date,
stock was valued at G 1,24,840 and Loose
tools of G 10,000.

(ii) To provide interest on bank loan for 6
months.

(iii) Depriciation on Plant is to be provided
@ 15% while on Furniture it is to be
@ 10%.

( 7 )
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(iv) Write off one third of preliminary
expenses.

(v) Make a provision for income tax on 50%.

(vi) The directors recommended a dividend
@ 15% for the year ending 31st March,
2014. Assume 13.068% dividend tax rate.

¥Íßæ / OR

·¤`ÂÙè ·ð¤ çßîæèØ çßßÚU‡æ âð @Øæ ÌæˆÂØü ãñU?

§Ù·ð¤ çßàÜðá‡æ ·¤è ¥æßàØ·¤Ìæ ÕÌæ§°Ð

What is the meaning of financial statements
of companies ? Discuss the need of analysis
of Published Accounts.

§·¤æ§ü / Unit-III

3. ÂéÙçÙü×æü‡æ âð ¥æÂ @Øæ â×ÛæÌð ãñ´U? ¥æ¢ÌçÚU·¤ °ß¢

Õæsï ÂéÙçÙü×æü‡æ ×ð´ ¥‹ÌÚU SÂcÅU ·¤èçÁ°Ð ØãU ·¤Õ

¥æßàØ·¤ ãUæðÌæ ãñU?

What do you understand from reconstruction ?
Distinguish between internal and external
reconstruction. When is it necessary ?

¥Íßæ / OR

( 8 )
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ÚUæÙæ çÜç×ÅðUÇU ÌÍæ ·ë¤c‡ææ çÜç×ÅðUÇU Ùð °·¤è·¤ÚU‡æ
·¤ÚUÙð ÌÍæ G v® ÂýçÌ ¥¢àæ ×ð´ çßÖ@Ì G z®,®®,®®®
·¤è ÂýæçÏ·ë¤Ì Âê¡Áè âð ¿ðÌÙæ çÜç×ÅðUÇU ·¤ãUè ÁæÙð
ßæÜè Ù§ü ·¤`ÂÙè ·¤è SÍæÂÙæ ·¤ÚUÙð ·¤æ çÙà¿Ø
ç·¤ØæÐ Ù§ü ·¤`ÂÙè ÎæðÙæð´ ·¤`ÂçÙØæð´ ·¤è â`ÂçîæØæð´
°ß¢ ÎæçØˆßæð´ ·¤æð Üð ÜðÌè ãñUÐ ÂýçÌÈ¤Ü §â Âý·¤æÚU
ãñU Ñ

ÚUæÙæ çÜç×ÅðUÇU ·¤æð v®®®®® Âê‡æü ¿é·¤Ìæ ¥¢àæ ÌÍæ
·ë¤c‡ææ çÜç×ÅðUÇU ·¤æð z®®®® Âê‡æü ¿é·¤Ìæ ¥¢àæÐ
°·¤è·¤ÚU‡æ ·¤è çÌçÍ ÂÚU àæðá çÙ`Ù Âý·¤æÚU ·ð¤ Íð Ñ

Ùæ×ð àæðá Á×æ àæðá

ÚUæÙæ ·ë¤c‡ææ ÚUæÙæ ·ë¤c‡ææ
çÜ0 çÜ0 çÜ0 çÜ0
(G) (G) (G) (G)

ÖßÙ |,z®,®®® w,}®,®®® ¥¢àæ Âê¡Áè v®,®®,®®® z,®®,®®®

×àæèÙ z,|z,z®® w,|z,®®® «¤‡æÂ˜æ v,®®,®®®

S·¢¤Ï v,~z,~w® }z,~®® â¢¿Ø z,®®,®®® z®,®®®

ÎðÙÎæÚU x{,y®® xz,|y® ÜæÖæÜæÖ {w,z®® xz,®®®

¥çÏ·¤æðáSÍ ÚUæð·¤ yw,v}® wx,x{® ÜðÙÎæÚU x|,z®® vz,®®®

v{,®®,®®® |,®®,®®® v{,®®,®®® |,®®,®®®

°·¤è·¤ÚU‡æ ç×Ÿæ‡æ ·¤è Âý·ë¤çÌ ×ð´ ×æÙ·¤ÚU ¥¢ÌÚU‡æ·¤Ìæü
°ß¢ ¥¢ÌçÚUÌè ·¤`ÂÙè ·¤è ÂéSÌ·¤æð´ ×ð´ ÁÙüÜ ÂýçßçcÅUØæ¡
·¤èçÁ° ÌÍæ ç¿_ïUæ Ù§ü ·¤`ÂÙè ·¤è ÂéSÌ·¤æð´ ×ð´ ÕÙæ§°Ð

( 9 )
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Rana Limited and Krishna Limited agree to
amalgamate and form a new company to be
called Chetna Limited with an authorised
capital of G 50,00,000 divided in shares of
G 10 each. The new company takes over all
the assets and liabilities of both companies,
the consideration being 100000 fully paid
shares to the Rana Limited and 50000 fully
paid shars to Krishna Limited. The balance at
the date of amalgamation were :

Debit Balance Credit Balance

Rana Krishna Rana Krishna
Ltd. Ltd. Ltd. Ltd.
G G G G

Building 7,50,000 2,80,000 Share Capital 10,00,000 5,00,000

Machinery 5,75,500 2,75,000 Debenture 1,00,000

Inventory 1,95,920 85,900 Reserve 5,00,000 50,000

Debtor 36,400 35,740 Profit & Loss 62,500 35,000

Cash at bank 42,180 23,360 Creditors 37,500 15,000

16,00,000 7,00,000 16,00,000 7,00,000

Give journal entries in the books of transferor
and transferee companies and the Balance
Sheet in the books of the new company, on
the assumption that amalgamation is in the
nature of merger.

( 10 )
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§·¤æ§ü / Unit-IV

4. âê˜æÏæÚUè ·¤`ÂÙè °ß¢ âãUæØ·¤ ·¤`ÂÙè âð @Øæ ¥æàæØ
ãñU? §â·ð¤ »é‡æ-Îæðáæð´ ·¤è çßßð¿Ùæ ·¤èçÁ°Ð

What do you understand by holding and
subsidiary company ? Discuss its advantages
and disadvantages.

¥Íßæ / OR

v ÁÙßÚUè, w®vx ·¤æð ¥ÚUçß¢Î çÜç×ÅðUÇU Ùð ×æðãUÙ
çÜç×ÅðUÇU ·ð¤ âÕ ¥¢àæ Üð çÜ°Ð ÎæðÙæð´ ·¤`ÂÙèØæð´ ·ð¤
xv ×æ¿ü, w®vx ·¤æð ÎæçØˆß °ß¢ â`Âçîæ ·¤æ çßßÚU‡æ
§â Âý·¤æÚU ãñU Ñ

çßßÚU‡æ ¥ÚUçß¢Î ×æðãUÙ
çÜç×ÅðUÇU çÜç×ÅðUÇU

ÎæçØˆß Ñ
¥¢àæ Âê¡Áè z,®®,®®® x,®®,®®®
âæ×æ‹Ø â¢¿Ø (v.y.w®vw) w,®®,®®® v,z®,®®®
ÜæÖæÜæÖ çßßÚU‡æ Â˜æ w,z®,®®® v,®®,®®®
ÜðÙÎæÚU w,®®,®®® v,z®,®®®

vv,z®,®®® |,®®,®®®
â`ÂçîæØæ¡ Ñ
çßçßÏ â`ÂçîæØæ¡ {,z®,®®® |,®®,®®®
×æðãUÙ çÜç×ÅðUÇU ·ð¤
¥¢àæ Üæ»Ì ×êËØ ÂÚU z,®®,®®®

vv,z®,®®® |,®®,®®®

( 11 )
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v.y.w®vw ·¤æð ×æðãUÙ çÜ0 ·ð¤ ÜæÖæÜæÖ çßßÚU‡æ

Â˜æ ×ð´ G x®,®®® ·¤æ ·ýð¤çÇUÅU àæðá ÍæÐ ÂêÚðU ßáü ×ð´

×æðãUÙ çÜç×ÅðUÇU Ùð ÜæÖ â×æÙ ÎÚU âð ¥çÁüÌ ç·¤ØæÐ

xv ×æ¿ü, w®vx ·¤æð ç×çŸæÌ ç¿Å÷UÆUæ ÕÙæ§°Ð

Arvind Ltd. acquired all the shares of Mohan
Ltd. on 1st January, 2013 and the details of
Liabilities and Assets for the two companies
on 31st March, 2013 were as follows :

Particulars Arivind Ltd. Mohan Ltd.

Liabilites :

Share Capital 5,00,000 3,00,000

General Reserve
(1.4.2012) 2,00,000 1,50,000

Statement of
Profit & Loss 2,50,000 1,00,000

Creditors 2,00,000 1,50,000

11,50,000 7,00,000
Assets :

Sundry assets 6,50,000 7,00,000

Shares in Mohan Ltd.
at cost 5,00,000

11,50,000 7,00,000

( 12 )
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The statement of Profit & Loss of Mohan Ltd.
had a credit balance of G 30,000 on 1st April,
2012. The profit of Mohan Ltd. accrued
evenly throughout the year. Prepare the
consolidated Balance Sheet as on 31st March,
2013.

§·¤æ§ü / Unit-V

5. °·¤ ·¤`ÂÙè ·ð¤ â×æÂÙ âð ¥æÂ @Øæ â×ÛæÌð ãñ´U?

â×æÂÙ ·¤è çßçßÏ çßçÏØæð´ ·¤æ ß‡æüÙ ·¤èçÁ° ÌÍæ

â×æÂÙ ·ð¤ ÂçÚU‡ææ×æð´ ·¤è çßßð¿Ùæ ·¤èçÁ°Ð

What do you understand by Liquidation of a
company ? Describe the different modes of
winding up and discuss its consequences.

¥Íßæ / OR

X ·¤`ÂÙè çÜç×ÅðUÇU ·¤è Âê¡Áè çÙ`ÙæÙéâæÚU Íè Ñ

(a) x®®®, ‘A’ â×Ìæ ¥¢àæ, çÁÙ×ð´ âð ÂýˆØð·¤ ¥¢àæ

G v®® ·¤æ Íæ ¥æñÚU çÁâ ÂÚU G }z ÂýçÌ ¥¢àæ

¿é·¤Ìæ ÍðÐ

(b) v®®®, ‘B’ â×Ìæ ¥¢àæ, çÁÙ×ð´ âð ÂýˆØð·¤ ¥¢àæ

Áæð G v®® ·¤æ Íæ ÌÍæ çÁâ ÂÚU G }® ÂýçÌ

¥¢àæ ¿é·¤Ìæ ÍðÐ

( 13 )
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(c) G v®® ßæÜð v®®® ÂêßæüçÏ·¤æÚU (¥çÏ×æÙ) ¥¢àæ

Áæð Âê‡æüÎîæ Íð (Øð ¥¢àæ ·¤`ÂÙè ·ð¤ ÂæáüÎ

¥¢ÌçÙüØ×æð´ ·ð¤ ¥¢Ì»üÌ Âê¡Áè ÂÚU ÂêßæüçÏ·¤æÚU ÚU¹Ìð

ãñUÐ)

çßçßÏ ÜðÙÎæÚU G |{,z®® ·ð¤ ÍðÐ §â×ð´ G w,z®®

â×æÂ·¤ ·ð¤ ÂæçÚUŸæç×·¤ ·¤æ Öè àææç×Ü ãñUÐ â×æÂ·¤

Ùð ‘B’ â×Ìæ ¥¢àææð´ ÂÚU ÂýçÌ ¥¢àæ G w® àæðá Íð,

·¤è Øæ¿Ùæ ·¤è, çÁâ·¤æ Âê‡æü Öé»ÌæÙ ÂýæŒÌ ãUæð

»ØæÐ â`ÂçîæØæð´ G v,~v,®®® ÂýæŒÌ ãéU°Ð

G vz ÂýçÌ ¥¢àæ ·¤è Øæ¿Ùæ ‘A’ â×Ìæ ¥¢àææð´ ÂÚU

·¤è »§üÐ v®® ‘A’ â×Ìæ ¥¢àææð´ ·ð¤ ¥çÌçÚU@Ì âÕ

¥¢àææð´ ·¤è ÚUæçàæ ÂýæŒÌ ãUæð »§üÐ â×æÂ·¤ ·¤æ ¥ç‹Ì×

çßßÚU‡æ ¹æÌæ ÕÙæ§°Ð

The capital of X Company Ltd. was as
follows :

(a) 3000, ‘A’ equity shares of G 100 each,
G 85 per share paid-up.

(b) 1000, ‘B’ equity shares of 100 each, G 80
per share paid-up.

(c) 1000, preference shares of G 100 each,

( 14 )
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fully paid (these share under the articles
have preference as to capital)

The various creditors amounted to G 76,500
including the liquidator’s remuneration of
G 2,500. The liquidator made a call of the
remaining G 20 per share on the ‘B’ equity
shares which was paid in full. assets realised
G 1,91,000.

A call of G 15 per share on ‘A’ equity shares
was made. This was paid in full with the
exception of 100 ‘A’ equity shares.
Prepare Liquidator’s Final Statement of
Account.

———

( 15 )
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§·¤æ§ü / Unit-I

1. (A) ÕÌæ§° ç·¤ @Øæ çÙ`Ù ÂýæçŒÌØæ¡ ¥æ·¤çS×·¤ ¥æØ
ãñ´U?

(i) ç×SÅUÚU X ·¤æð Â¢¿ ·¤æ ·¤æØü ·¤ÚUÙð ·ð¤
çÜ° G z,®®® ÂýæŒÌ ãéU° ÁÕç·¤
ÂæçÚUŸæç×·¤ ·ð¤ çÜ° ·¤æð§ü ÂýæßÏæÙ ÙãUè´
ÍæÐ

FD-103
M.Com 1st Semester

Examination, Dec.-Jan., 2021-22

Paper - III

Income Tax Law and Accounts

Time : Three Hours] [Maximum Marks : 80

ÙôÅU Ñ âÖè ÂýàÙæð´ ·ð¤ ©UîæÚU ÎèçÁ°Ð âÖè ÂýàÙæð´ ·ð¤ ¥¢·¤
â×æÙ ãñ´UÐ

Note : Answer all questions. All questions carry equal
marks.

DRG_150_(16) (Turn Over)
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(ii) ç×SÅUÚU Y ·¤æð Â¢¿ ·¤æ ·¤æØü ·¤ÚUÙð ·ð¤
çÜ° G z,®®® ÂýæŒÌ ãéU° çÁâ ÂÚU
ÂæçÚUŸæç×·¤ ·ð¤ çÜ° SÂcÅU ÌÍæ çÙçà¿Ì
ÂýæßÏæÙ ÍæÐ

(iii) ‹ØæØæÜØ ·ð¤ ¥æÎðàææÙéâæÚU «¤‡æè ç×SÅUÚU
Y ÂÚU çÇU·ý¤è ·¤æð ·¤æØæüç‹ßÌ ·¤ÚUÙð âð
ÚUæð·¤Ùð ·ð¤ çÜ° çÇU·ý¤èÏæÚUè ç×SÅUÚU X ·¤æð
G z®® µØæÁ ·ð¤ ÂýæŒÌ ãéU°Ð

(iv) ç×SÅUÚU X, ç×SÅUÚU Y ·ð¤ ØãUæ¡ âðßæ ·¤ÚU
ÚUãUæ ãñUÐ ç×SÅUÚU Y ·¤æ Âé˜æ ¹æð »Øæ ¥æñÚU
ç×SÅUÚU °@â ·ð¤ çÕÙæ ÂæçÚUŸæç×·¤ ·ð¤
ÂýæßÏæÙ ·ð¤ ©Uâð ¹æðÁ çÙ·¤æÜæ ÂÚU‹Ìé
ç×SÅUÚU Y Ùð ©Uâð G z®® §Ùæ× ·ð¤ çÎ°Ð

State whether the following receipts are
causal incomes ?
(i) Mr. X received G 5,000 for acting as

an arbitrator without any stipulation
as to remuneration.

(ii) Mr. Y received G 5,000 for acting as
an arbitrator with a clear and definite
stipulation for the said remuneration.

(iii) Mr. X a decree holder received
interest of G 500 under an order of
court granting stay of execution of
the decree on judgement debtor Mr.
Y.

( 2 )
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( 3 )

(iv) MR. X is in the service of Mr. Y,
Mr. Y’s son was lost and Mr. X
traced him out without any
stipulation of reward but Mr. Y gave
him a reward of G 500.

(B) Ÿæè ÚUæÁèß ·¤è ·é¤Ü ¥æØ G v,xw,®®® ¥æñÚU

àæéh ·ë¤çá ¥æØ G y,~®® ãñU ÌÍæ Ÿæè ¥×Ù

·¤è ·é¤Ü ¥æØ G w,zw,®®® ¥æñÚU àæéh ·ë¤çá

¥æØ G xz,®®® ãñUÐ ·¤ÚU-çÙÏæüÚU‡æ ßáü w®w®-

wv ·ð¤ çÜ° ÂýˆØð·¤ mæÚUæ ÎðØ ·¤ÚU ·¤è »‡æÙæ

·¤èçÁ°Ð §Ù×ð´ âð ÂýˆØð·¤ ÃØç@Ì ÖæÚUÌ ·ð¤

âæÏæÚU‡æ çÙßæâè ãñ´UÐ

The total income of Shri Rajeev is

G 1,32,000 and net agricultural income is

G 4,900. Total income of Shri Aman is

G 2,52,000 and net agricultural income is

G 35,000. Compute the tax payable by
each one of them for the asessment year
2020-21. Each of them is an ordinary
resident in India.

¥Íßæ / OR
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( 4 )

X °·¤ ÖæÚUÌèØ Ùæ»çÚU·¤, ·¤æð çßÎðàæ âð çÙØéç@Ì
Âæ˜æ ÂýæŒÌ ãéU¥æÐ

(a) ÖæÚUÌ âð ÁæÙð ·¤è çÌçÍ Ì·¤ ©Uâ·¤è ¥Ùé×æçÙ·¤
¥æØ G {,x®,®®® ãñUÐ

(b) ÖæÚUÌ âð ÁæÙð ·ð¤ Âà¿æÌ ©Uâ·¤è çßÎðàæè ¥æØ
G {,z®,®®® ãñUÐ

©Uâ·ð¤ ·¤ÚU ÎæçØˆß ·¤è »‡æÙæ ·¤èçÁ° ØçÎ ßãU
ÖæÚUÌ âð Ñ

(i) v ÁéÜæ§ü, w®w® ·¤æð ÁæÌæ ãñUÐ

(ii) xv ¥@ÅêUÕÚU, w®w® ·¤æð ÁæÌæ ãñUÐ

X, a citizen of India, got an appointment letter
from Foreign country.

(a) His estimated total income till the
departure from India is G 6,30,000.

(b) His foreign income after leaving India is
G 6,50,000.

Compute his tax liability if he leaves India
on :

(i) 1st July, 2020

(ii) 31st October, 2020

DRG_150_(16) (Continued)



§·¤æ§ü / Unit-II

2. ç×0 ·¤çÂàæ ·¤è ¥æØ ·¤æ çßßÚU‡æ çÙ`Ù Âý·¤æÚU ãñU Ñ

(i) ßðÌÙ (©UÎ÷»× SÍæÙ ÂÚU G y},®®® ¥æØ·¤ÚU
ƒæÅUæÙð ·ð¤ ÕæÎ) G x,{®,®®® ßæçáü·¤Ð

(ii) ×ã¡U»æ§ü Öîææ (âðßæ¥æð´ ·¤è àæÌæðZ ·ð¤ ¥ÏèÙ)
G yw,®®®Ð

(iii) çàæÿææ Öîææ (x Õ“ææð´ ·ð¤ çÜ°) G vz,|®®
ßæçáü·¤Ð

(iv) ç¿ç·¤ˆâæ Öîææ (ßæSÌçß·¤ ç¿ç·¤ˆâæ ÃØØ
G vy,®®® ·¤æ) G x|,w®® ßæçáü·¤Ð

(v) ç·¤ÚUæØæ ×é@Ì ×·¤æÙ (ÁØÂéÚU ×ð´) ·¤`ÂÙè
G },®®® ÂýçÌ ×æãU ç·¤ÚUæØæ ¿é·¤æÌè ãñUÐ ×·¤æÙ
âéâç”æÌ ãñU °ß¢ ©Uâ·ð¤ È¤Ùèü¿ÚU ·¤æ ç·¤ÚUæØæ
G wz,®z® ßæçáü·¤ ãñUÐ

(vi) ƒæÚðUÜê Ùæñ·¤ÚU, È¤ÚUæüàæ °ß¢ ¿æñ·¤èÎæÚU çÁÙ·¤æ
ÂýˆØð·¤ ·¤æ ßðÌÙ G v,wz® ÂýçÌ ×æãU ãñUÐ
·¤`ÂÙè mæÚUæ ¿é·¤æØæ ÁæÌæ ãñUÐ

(vii) ·¤`ÂÙè mæÚUæ ©UÙ·ð¤ çÚUÈýð¤àæÚU ·¤æðâü ÂÚU ÃØØ
G },®®®Ð

(viii) Âý×æç‡æÌ ÖçßcØ çÙçÏ ×ð´ ©UÙ·¤æ ¥¢àæÎæÙ
G xv,®®® °ß¢ çÙØæð@Ìæ ·¤æ ¥¢àæÎæÙ
G x{,®®®Ð

( 5 )
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(ix) çÙØæð@Ìæ Ùð ç×0 ·¤çÂàæ ·ð¤ çÙßæâ ÂÚU ×éRÌ
ÅðUÜèÈ¤æðÙ ·¤è âéçßÏæ Îð ÚU¹è ã¢ñUÐ çÁâ·ð¤
çÕÜ çÙØæð@Ìæ Ùð G },®®® ¿é·¤æØðÐ

(x) ßëçîæ ·¤ÚU G |,®®®, Øð ¥æØ·¤ÚU çßßÚU‡æè ÂýSÌéÌ
·¤ÚUÌð ãñ´UÐ

·¤ÚU-çÙÏæüÚU‡æ ßáü w®w®-wv ·ð¤ çÜ° ·¤ÚU Øæð‚Ø
ßðÌÙ âð ¥æØ ·¤è »‡æÙæ ·¤èçÁ°Ð

The particulars of Mr. Kapish’s income are as
follows :

(i) Salary (after deducting G 48,000 for
income tax at source) G 3,60,000 p.a.

(ii) Dearness Allowance (under the terms of
employment) G 42,000 p.a.

(iii) Education Allowance (for 3 children)
G 15,700 p.a.

(iv) Medical Allowance (actual medical
expenditure G 14,000) G 37,200 p.a.

(v) Rent free house (in Jaipur), the company
paid G 8,000 per month as rent. The
house is furnished and the rent of
furniture is G 25,050 p.a.

(vi) A domestic servent, a sweeper and a
watchman, were paid by the company
G 1,250 per month each.

( 6 )
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(vii) Expense of G 8,000 borne by the
company for refresher course.

(viii) His contribution to R.P.F. G 31,000 and
employer’s contribution G 36,000.

(ix) The company has provided a free
telephone at Mr. Kapish’s residence and
paid bill amounting to G 8,000.

(x) Professional tax G 7,000. He furnishes
income tax return.

Compute taxable income from salary for the
Assessment Year 2020-21.

¥Íßæ / OR

ç×SÅUÚU X ¥æ»ÚUæ ×ð´ ¥æØ·¤ÚU ¥çÏ·¤æÚUè ãñ´UÐ ©UÙ·¤æ
×·¤æÙ ¥æ»ÚUæ ×ð´ ãñU Áæð v È¤ÚUßÚUè w®v~ ·¤æð ÕÙæ
ãñU ÌÍæ ¥ÂÙð SßØ¢ ·ð¤ ÚUãUÙð ·ð¤ çÜ° ÂýØé@Ì ãUæð
ÚUãUæ ãñUÐ §â ×·¤æÙ ·ð¤ çÙ×æü‡æ ·ð¤ çÜ° ©UâÙð v
¥»SÌ, w®v| ·¤æð G |®,®®® ·¤æ «¤‡æ vw' ÂýçÌßáü
·ð¤ µØæÁ ÂÚU çÜØæÐ §â «¤‡æ ×ð´ âð ·é¤ÀU Öè
ßæÂâè Öé»ÌæÙ ÙãUè´ ãéU¥æ ãñUÐ

§â ×·¤æÙ ·ð¤ â`Õ‹Ï ×ð´ ¥‹Ø âê¿Ùæ°¡ çÙ`Ù Âý·¤æÚU
ãñ´UU Ñ

( 7 )
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Ù»ÚUÂæçÜ·¤æ ×êËØ G wy,®®®
Ù»ÚUÂæçÜ·¤æ ·¤ÚU ©UÂØéü@Ì ·¤æ v®'

×ÚU`×Ì G |,®®®

«¤‡æ ÂÚU µØæÁ G },y®®

×·¤æÙ ·ð¤ Ù»ÚUÂæçÜ·¤æ ·¤ÚU ·¤æ ¥æÏæ Öé»ÌæÙ ãéU¥æ

ãñUÐ

ç×0 X ·¤è v ¥@ÅêUÕÚU, w®v~ ·¤æð ·¤æðÜ·¤æÌæ ×ð´

ÕÎÜè ãUæð »§ü ÁãUæ¡ ßãU G z,®®® ÂýçÌ×æãU ·ð¤ ç·¤ÚUæØð

·ð¤ ×·¤æÙ ×ð´ ÚUãU ÚUãUæ ãñU ÌÍæ ©Uâ·¤æ ¥æ»ÚUæ ·¤æ

×·¤æÙ v çÎâ`ÕÚU âð G w,®®® ÂýçÌ ×æãU ç·¤ÚUæØð ÂÚU

©UÆUæ çÎØæ »ØæÐ

·¤ÚU-çÙÏæüÚU‡æ ßáü w®w®-wv ·ð¤ çÜ° ç×SÅUÚU X ·¤è

×·¤æÙ â`Âçîæ âð ·¤ÚU Øæð‚Ø ¥æØ ·¤è »‡æÙæ

·¤èçÁ°Ð

Mr. X is an Income Tax Officer at Agra. He
owns a house at Agra which was constructed
on 1st February, 2019 and was occupied by
him for his own residence. He took a loan of
G 70,000 on 1st August, 2017 @ 12% p.a.
Interest for the construction of this house.
Nothing has been repaid out of this loan.

Other informations in respect of the house is
as under :

( 8 )
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Municipal valuation G 24,000

Municipal Tax 10% of the above

Repairs G 7,000

Interest on loan G 8,400

The municipal tax of the Agra house is half
paid.

Mr. X was transferred to Kolkata on 1st
October, 2019 where he resides in a house
taken on rent of G 5,000 per month and his
house at Agra was let out on 1st December
on rent of G 2,000 per month.

Compute Mr. X’s taxable income from house
property for the Assessment Year 2020-21

§·¤æ§ü / Unit-III

3. ç×0 ÚUæ× Ùð xv.x.w®w® ·¤æð â×æŒÌ ãUæðÙð ßæÜð ßáü
·ð¤ ¹æÌæð´ âð çÙ`Ù âê¿Ùæ°¡ Îè Ñ

G

(a) àæéh ÜæÖ w,®®,®®®

(b) ¥Âý×æç‡æÌ ÂýæòçßÇðU‡ÅU È¤‡ÇU ×ð´ ¥¢àæ
ÎæÙ y®,®®®

(c) ¥æØ·¤ÚU ·ð¤ çÜ° ¥æØæðÁÙ v®,®®®

( 9 )
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G
(d) çß™ææÂÙ ÃØØ, §â×ð´ °·¤ ÚUæÁÙèçÌ·¤

ÂæÅUèü mæÚUæ Âý·¤æçàæÌ âæðçßçÙØÚU ×ð´

çß™ææÂÙ ·ð¤ ÃØØ G y,®®® àææç×Ü ãñ´U w®,®®®

(e) ©UˆÂæÎ àæéË·¤ ·ð¤ çÜ° ¥æØæðÁÙ x®,®®®

(f ) ¥ß·¤æàæ ƒæÚU ÃØØ xz,®®®

(g) ·¤×ü¿æçÚUØæð´ ·¤æ SßæS‰Ø Õè×æ Âýèç×Ø×

¿ñ·¤ mæÚUæ çÎØæ v®,®®®

(h) ·¤SÅU× ¥çÏ·¤æçÚUØæð´ mæÚUæ ·¤æÙêÙ ·¤æ

©UËÜ¢ƒæÙ ·¤ÚUÙð ÂÚU Ü»æØæ »Øæ ¥Íü

Î‡ÇU {z,®®®

(i) ×æÜ ¥æñÚU âðßæ ·¤ÚU ÎðÚUè âð Öé»ÌæÙ

·¤ÚUÙð ÂÚU µØæÁ v,®®®

ÃØßâæØ âð ¥æØ ·¤è »‡æÙæ ·¤èçÁ°Ð

Mr. Ram gives you the following particulars
from the accounts for the year ended
31.3.2020 :

G
(a) Net Proft 2,00,000

(b) Contribution to unrecognised
Provident Fund 40,000

(c) Provision for income tax 10,000

( 10 )
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G
(d) Advertisement expenses including

an advertisement for G 4,000 in
souvenir published by a political
party 20,000

(e) Provision for Excise Duty 30,000

(f ) Holiday home expenses 35,000

(g) Insurance premium for the health
of employees paid by cheque 10,000

(h) Penalty imposed by customs
authorities for breach of law 65,000

(i) Interest for late payment of
Goods and Services tax 1,000

Compute Income from the business.

¥Íßæ / OR

(A) çÙ`ÙçÜç¹Ì ·ð¤ ¥Íü SÂcÅUÌØæ â×Ûææ§° Ñ

(a) ·¤ÚU ×é@Ì »ñÚU-âÚU·¤æÚUè ÂýçÌÖêçÌØæ¡

(b) ·¤ÚU Øé@Ì âÚU·¤æÚUè ÂýçÌÖêçÌØæ¡

Explain clearly the meaning of the
following :

(a) Tax-free Non-Government Securities

(b) Cess-tax Government Securities

( 11 )
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(B) ç×SÅUÚU A Ùð ßáü w®®® ×ð´ çÎËÜè ×ð´ °·¤
×·¤æÙ G v,®®,®®® ×ð´ ¹ÚUèÎæ ÌÍæ ßáü w®®®
×ð´ §â ×·¤æÙ ×ð´ Îæð ·¤×ÚðU ÌÍæ °·¤ ÕÚUæ×Îæ
G x®,®®® ·¤è Üæ»Ì ÂÚU ÕÙßæØðÐ ©UâÙð §â
×·¤æÙ ×ð´ âéÏæÚU ç·¤Øð ¥æñÚU ×§ü, w®vy ×ð´ Îæð
»éâÜ¹æÙð G w,y®,®®® ·¤è Üæ»Ì ÂÚU ßÙßæØðÐ

ç×SÅUÚU A Ùð v ÁéÜæ§ü, w®v~ ·¤æð ØãU ×·¤æÙ
G wz,®®,®®® ×ð´ Õð¿ çÎØæÐ ØçÎ v ¥ÂýñÜ,
w®®v ·¤æð ×·¤æÙ ·¤æ ©Uç¿Ì ÕæÁæÚU ×êËØ
y,®®,®®® ãñU, Ìæð Âê¡Áè ÜæÖ ™ææÌ ·¤èçÁ°Ð
w®®v-®w, w®vy-vz °ß¢ w®v~-w® ×ð´ Üæ»Ì
SÈ¤èçÌ âê¿·¤æ¢·¤ ·ý¤×àæÑ v®®, wy®, w}~ ÍæÐ

Mr. A purchased a house in Delhi in the
year 2000 for G 1,00,000 and added two
rooms and a verandah in the house at a
cost of G 30,000 in the year 2000. He
made improvements in the house and
added two bathrooms at a cost of
G 2,40,000 in May, 2014.

Mr. A sells the house on 1 July, 2019 for
G 25,00,000. Find out the capital gain if
the fair market value of the house on
1st April, 2001 is G 4,00,000. The cost
inflation index in 2001-02, 2014-15 and
2019-20 were 100, 240 and 289
respectively.

( 12 )
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§·¤æ§ü / Unit-IV

4. çÙ`Ù âê¿Ùæ¥æð´ âð ·¤ÚU-çÙÏæüÚU‡æ ßáü w®w®-wv ·ð¤
çÜ° Ÿæè×Ìè ÎèÂçàæ¹æ ·¤è ·é¤Ü ¥æØ °ß¢ àæéh ·¤ÚU
ÎæçØˆß ·¤è »‡æÙæ ·¤èçÁ° Ñ

G

(a) ×·¤æÙ â`Âçîæ âð ¥æØ (»‡æÙæ ·¤è »§ü) ~z,®®®

(b) âÚU·¤æÚUè ÂýçÌÖêçÌØæð´ ÂÚU µØæÁ |z,®®®

(c) ÜæòÅUÚUè âð ÁèÌ v,®®,®®®

(d) ÂýÏæÙ×¢˜æè ÚUæcÅþUèØ ÚUæãUÌ ·¤æðá ×ð´

¿ñ·¤ mæÚUæ ÎæÙ z®,®®®

(e) ßðÌÙ âð ¥æØ (»‡æÙæ ·¤è ãéU§ü) x,®®,®®®

From the following information compute total
income of Mrs. Deepshikha for the
Assessment Year 2020-21 :

G
(a) Income from House Property

(computed) 95,000
(b) Interest on Government Securities 75,000
(c) Winning from Lottery  1,00,000
(d) Donation to P.M. National

Relief Fund by cheque 50,000
(e) Income from Salary (computed) 3,00,000

¥Íßæ / OR

( 13 )
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Ÿæè ¥àææð·¤ ·é¤×æÚU Áæð ·¤è °·¤ çÙßæâè ·¤ÚUÎæÌæ ãñ´U
·¤ÚU-çÙÏæüÚU‡æ ßáü w®v~-w® ÌÍæ w®w®-wv ·ð¤ çÜ°
çÙ`ÙçÜç¹Ì çßßÚU‡æ ÂýSÌéÌ ·¤ÚUÌð ãñ´UÐ ©Uâ·¤è â·¤Ü
·ê¤Ü ¥æØ (·¤ÚU-çÙÏæüÚU‡æ ßáü) w®v~-w® ÌÍæ
w®w®-wv ·¤è »‡æÙæ ·¤èçÁ° Ñ

w®v~-w® w®w®-wv
(G) (G)

(i) ¥æÚUæ ×àæèÙ ÃØæÂæÚU ·¤æ
ÜæÖ (OïUæâ ·ð¤ Âêßü) v,y®,®®® x®,®®®

(ii) âæ§·¤Ü ÃØßâæØ âð ¥æØ w,y®,®®® –vz,®®®

(iii) ÉUÜæ§ü ÃØæÂæÚU ·¤æ ÜæÖ w},®®®

(iv) ¥æÚUæ ×àæèÙ ÂÚU OïUæâ v},®®® y®,®®®

(v) âæðÙð ·ð¤ â^ïðU ÃØæÂæÚU ·¤è
ãUæçÙ ¥æ»ð Üæ° (w®v}-v~
×ð´ Õ¢Î ·¤ÚU çÎØæ) vw,®®®

(vi) çßÎðàæ ×ð´ ç·¤° »° °·¤
ÃØæÂæçÚU·¤ ç·ý¤Øæ âð ÜæÖ Áæð
ÖæÚUÌ ÙãUè´ ÜæØæ »Øæ w,xz,®®®

(viii) ¿æ¢Îè ·ð¤ âÅ÷UÅðU ÃØæÂæÚU ·¤æ
ÜæÖ  (Áæð §âè ßáü ÂýæÚ¢UÖ
ç·¤Øæ »Øæ) {®,®®®

( 14 )

DRG_150_(16) (Continued)



Shri Ashok Kumar who is a resident assessee
furnishes the following particulars for the
Assessment Year 2019-20 and 2020-21.
Compute gross total income for (the
assessment year) 2019-20 and 2020-21 :

2019-20 2020-21
(G) (G)

(i) Profit of Saw mill
business (before
depreciation) 1,40,000 30,000

(ii) Profit of cycle business 2,40,000 –15,000

(iii) Casting business profit 28,000

(iv) Depreciation of saw
machine 18,000 40,000

(v) Gold speculation
business loss carried
forward  (discontinued in
2018-19) 12,000

(vi) Profit from a business
activity in foreign not
brought in India 2,35,000

(vii) Silver speculation
business profit (started
this year) 60,000

( 15 )
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§·¤æ§ü / Unit-V

5. çÙ`ÙçÜç¹Ì ÂÚU â¢çÿæŒÌ çÅŒÂç‡æØæ¡ çÜç¹° Ñ

(a) ·¤ÚU-çÙÏæüÚU‡æ ¥çÏ·¤æÚUè

(b) ·¤ç×àÙÚU (¥ÂèÜ)

Write short notes on the following :

(a) Assessing Officer

(b) Commissioner (Appeals)

¥Íßæ / OR

·¤ç×àÙÚU (¥ÂèÜ) ·ð¤ ¥æÎðàæ ·ð¤ çßL¤h ¥ÂèÜðÅU
çÅþUµØêÙÜ ×ð´ ¥ÂèÜ ·¤ÚUÙð ·¤è ·¤æØüçßçÏ ·¤æ â¢ÿæðÂ
×ð´ ß‡æüÙ ·¤èçÁ°Ð

Describe briefly the procedure for filing an
appeal to the appellate tribunal against the
order of a Commissioner (appeals).

———

( 16 )
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§·¤æ§ü / Unit-I

1. ÒÒâæ¢çBØ·¤è °·¤ çß™ææÙ ÙãUè´ ßñ™ææçÙ·¤ çßçÏ ãñUÐÓÓ
§â ·¤ÍÙ ·¤è â×èÿææ ·¤èçÁ° ¥æñÚU âæ¢çBØ·¤è ·ð¤
ÿæð˜æ, ×ãUˆß ÌÍæ âè×æ¥æð´ ·¤æð SÂcÅU ·¤èçÁ°Ð

FD-104
M.Com. 1st Semester

Examination, Dec.-Jan., 2021-22

Paper - IV

Statistical Analysis

Time : Three Hours] [Maximum Marks : 80
[Minimum Pass Marks : 16

ÙôÅU Ñ âÖè ÂýàÙæð ´ ·ð¤ ©UîæÚU ÎèçÁ°Ð âÖè ÂýàÙæð ´ ·ð¤ ¥¢·¤
â×æÙ ãñ´ UÐ

Note : Answer all questions. All questions carry equal
marks.
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“Statistics is not a science; it is scientific
method.” Examine this statement and discuss
the scope, utility and limitations of Statistics.

¥Íßæ / OR

âæ¢çBØ·¤èØ ¥Ùéâ‹ÏæÙ âð ¥æÂ @Øæ â×ÛæÌð ãñ´ U?
ç·¤âè âæ¢çBØ·¤èØ âßðüÿæ‡æ ãðUÌé ¥æÂ ç·¤â Âý·¤æÚU
ØæðÁÙæ ÕÙæ°¢»ð?

What do you mean by statistical inquiry ?
How would you plan a statistical
investigation ?

§·¤æ§ü / Unit-II

2. ÂýæÍç×·¤ â×¢·¤æð´ âð @Øæ ¥çÖÂýæØ ãñU? §‹ãðU â¢»ýçãUÌ
·¤ÚUÙð ·¤è çßçÖ‹Ù çßçÏØæ¡ SÂcÅU ·¤èçÁ° ¥æñÚU ©UÙ
ÂçÚUçSÍçÌØæð´ ·¤æð ÕÌæ§° çÁÙ×ð´ ©UÙ·¤æ ÂýØæð» ç·¤Øæ
ÁæÙæ ¿æçãU°Ð

What is meant by Primary Data ? Explain the
various methods of collecting them and
indicate the situations in which each of these
should be used.

¥Íßæ / OR

°·¤ ©Uîæ× ÂýàÙæßÜè ·ð¤ @Øæ ¥æßàØ·¤ »é‡æ ãñ´ U?
Âý»‡æ·¤æð´ ·¤æ ¿éÙæß ·¤ÚUÌð â×Ø ç·¤Ù ÕæÌæð´ ·¤æ
ŠØæÙ ÚU¹Ùæ ¿æçãU°Ð

( 2 )
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( 3 )

What are the essentials of a good
Questionnaire ? What points should be taken
into account while selecting the enumerators ?

§·¤æ§ü / Unit-III

3. çÙ`Ù â×¢·¤æð´ âð ·¤æÜü çÂØâüÙ çßá×Ìæ »é‡ææ¢·¤ ™ææÌ
·¤èçÁ° Ñ

¥æØ (G) v®®-w®® v®®-x®® v®®-y®® v®®-z®® v®®-{®®

ÃØç@ÌØæð´
·¤è â¢BØæ vz xx {x }x v®®

Calculate Karl Pearson’s coefficient of
skewness from the following data :

Income (G) 100-200 100-300 100-400 100-500 100-600

No. of
Persons 15 33 63 83 100

¥Íßæ / OR

°·¤ ¥æ¢çàæ·¤ M¤Â âð ÙcÅU ÂýØæð»àææÜæ ·ð¤ âãUâ`Õ‹Ï
âæ×»ýè ·ð¤ çßàÜðá‡æ ¥çÖÜð¹ ×ð´ âð ·ð¤ßÜ çÙ`Ù
ÂçÚU‡ææ× ãUè SÂcÅU ãñU ¢ Ñ

x ·¤æ ÂýâÚU‡æ= ~

ÂýÌèÂ»×Ù â×è·¤ÚU‡æ Ñ

8x – 10y + 66 = 0 ÌÍæ 40x – 18y = 214

DRG_217_(7) (Turn Over)



( 4 )

§â âê¿Ùæ ·ð¤ ¥æÏæÚU ÂÚU ™ææÌ ·¤èçÁ° Ñ

(i) x ¥æñÚU y ·ð¤ ×æŠØ-×êËØ

(ii) x ¥æñÚU y ·ð¤ Õè¿ âãUâ`Õ‹Ï »é‡ææ¢·¤ ÌÍæ

(iii) y ·¤æ Âý×æÂ çß¿ÜÙ

In a partially destroyed laboratory record of
an analysis of correlation data, the following
results are only legible :

Variance of x = 9

Regression equation :

8x – 10y + 66 = 0 and 40x – 18y = 214

Find on the basis of the given information :

(i) Mean values of x and y

(ii) Coefficient of correlation between x and
y and

(iii) The standard deviation of y.

§·¤æ§ü / Unit-IV

4. °·¤ ÂÚUèÿææ ·ð¤ ÂÚUèÿææÍèü ×ð´ âð ·ý¤×àæÑ x®', xz'
¥æñÚU yz' âæ¢çBØ·¤è ×ð´, »ç‡æÌ ×ð´ ¥æñÚU ·¤×-âð-
·¤× ç·¤âè °·¤ çßáØ ×ð´ ¥Ùéîæè‡æü ÚUãðUÐ °·¤
ÂÚUèÿææÍèü ØæÎë‘ÀUØæ ¿éÙæ »ØæÐ ÂýæçØ·¤Ìæ ™ææÌ ·¤èçÁ°
ç·¤ —
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(i) ßãU ·ð¤ßÜ »ç‡æÌ ×ð´ ¥Ùéîæè‡æü ãéU¥æ,

(ii) ßãU âæ¢çBØ·¤è ×ð´ ©Uîæè‡æü ãéU¥æ ÁÕç·¤ ØãU ™ææÌ
ãñU ç·¤ ßãU »ç‡æÌ ×ð´ ¥Ùéîæè‡æü ÍæÐ

Among the examinees in a examination 30%,
35% and 45% failed in Statistics, in
Mathematics and at least one of the subjects
respectively. An examinee is selected at
random. Find the probability that :

(i) He failed in Mathematics only;

(ii) He passed in Statistics if it is known that
he failed in Mathematics.

¥Íßæ / OR

°·¤ Õè×æ ·¤`ÂÙè Ùð v®®® S·ê¤ÅUÚU ¿æÜ·¤æð´, w®®®
·¤æÚU ¿æÜ·¤æð´ ¥æñÚU x®®® Õâ ¿æÜ·¤æð´ ·¤æ Õè×æ
ç·¤ØæÐ ÂýˆØð·¤ ×ð´ ÎéƒæüÅUÙæ ·¤æð â`ÖæßÙæ ·ý¤×àæÑ
®.®y, ®.®w, ®.®v ãñUÐ °·¤ Õè×æ·ë¤Ì ÃØç@Ì ·¤è
ÎéƒæüÅUÙæ ãUæð »§üÐ §â ÕæÌ ·¤è @Øæ ÂýæçØ·¤Ìæ ãñU ç·¤
ßãU ÃØç@Ì S·ê¤ÅUÚU ¿æÜ·¤ ãñU?

An insurance company insured 1000 scooter
drivers, 2000 car drivers and 300 bus drivers.
The probability of accident in each case is
0.04, 0.02 and 0.01 respectively. One of the
insured person met an accident. What is the
probability that he is scooter driver ?

( 5 )
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§·¤æ§ü / Unit-V

5. °·¤ Õ»è¿ð ×ð´ {y @ØæçÚUØæ¡ ãñ´U ¥æñÚU ÂýˆØð·¤ @ØæçÚU
×ð´ °·¤ çßàæðá Âý·¤æÚU ·ð¤ Èê¤Ü ·ð¤ x ÕèÁ Õæð° ÁæÌð
ãñ´UÐ Èê¤Ü ·ð¤ âÈð¤Î ãUæðÙð ·¤è â`ÖæçßÌæ  ãñUÐ çmÂÎ
Õ¢ÅUÙ ×æÙÌð ãéU° x, w, v ÌÍæ ® âÈð¤Î Èê¤Üæð´ ßæÜè
@ØæçÚUØæð´ ·¤è â¢BØæ ™ææÌ ·¤èçÁ°Ð

There are 64 beds in a garden and 3 seeds of
a particular type of flower are sown in each
bed. The probability of a flower being white
is . Assuming a binomial distribution, find
the number of beds with 3, 2, 1 and 0 white
flowers.

¥Íßæ / OR

°·¤ ·¤`ÂÙè mæÚUæ çÙç×üÌ w®®®® çßléÌ ÕËÕæð´ ·¤æ
ÂÚUèÿæ‡æ ·¤ÚUÙð ÂÚU ØãU ™ææÌ ãéU¥æ ç·¤ ÕËÕ ·¤æ
ÁèßÙ·¤æÜ Âýâæ×æ‹Ø M¤Â âð Õ¢çÅUÌ ãñU çÁâ·¤æ ×æŠØ
w®y® ƒæ‡ÅðU ÌÍæ Âý×æÂ çß¿ÜÙ {® ƒæ‡ÅðU ãñU¢Ð ©U@Ì
âê¿Ùæ ·ð¤ ¥æÏæÚU ÂÚU °ðâð ÕËÕæð´ ·¤è â¢BØæ
¥Ùé×æçÙÌ ·¤èçÁ° Áæð

(i) wvz® ƒæ‡ÅUæð´ âð ¥çÏ·¤ ÁÜð´ ¥æñÚU

(ii) Áæð v~{® ƒæ‡ÅUæð ´ âð ·¤× ÁÜð´Ð

As a result of tests on 20000 electric bulbs
manufactured by a company it was found that
the life time of the bulb was normally

( 6 )
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distributed with a mean life of 2040 hours
and standard deviation of 60 hours. On the
basis of the above information estimate the
number of the bulbs that are expected to burn
for

(i) more than 2150 hours, and

(ii) less than 1960 hours.
———

( 7 )
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§·¤æ§ü / Unit-I

1. ÒÒÂýçßßÚU‡æ ç·¤âè ·¤`ÂÙè ·¤æ ×ãUˆßÂê‡æü ÎSÌæßðÁ
ãUôÌæ ãñUÐÓÓ §â ·¤ÍÙ ·¤è ÃØæBØæ ·¤èçÁ° ÌÍæ
ÂýçßßÚU‡æ ×ð´ ÂçÚUßÌüÙ ·ð¤ çÙØ× ÕÌæ§°Ð

“Prospectus is an important document of a
company.” Discuss the statement and state
rules regarding change in prospectus.

¥Íßæ / OR

FD-105
M.Com. 1st Semester

Examination, Dec.-Jan., 2021-22

Paper - V

Corporate Legal Framework

Time : Three Hours] [Maximum Marks : 80

ÙôÅU Ñ âÖè ÂýàÙæð ´ ·ð¤ ©UîæÚU ÎèçÁ°Ð âÖè ÂýàÙæð ´ ·ð¤ ¥¢·¤
â×æÙ ãñ´ UÐ

Note : Answer all questions. All questions carry equal
marks.
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ÒÒÂæáüÎ âè×æ çÙØ× ·¤`ÂÙè ·¤æ ×êÜÖêÌ ¿æÅüUÚU ãñU
Áô ·¤`ÂÙè ·ð¤ ©UgðàØ ·¤ô ÂçÚUÖæçáÌ ·¤ÚU ©Uâ·ð¤
¥çÏ·¤æÚUô´ ·¤è ×ØæüÎæ çÙçà¿Ì ·¤ÚUÌæ ãñUÐÓÓ â×Ûææ§°Ð

“The Memorandum of Association is the
fundamental Charter of the company which
defines the objectives of the company and
determines the limits of its rights.” Explain.

§·¤æ§ü / Unit-II

2. ·¤`ÂÙè â×æÂÙ âð @Øæ ¥æàæØ ãñU? ·¤`ÂÙè â×æÂÙ
·¤è çßçÖ‹Ù çßçÏØô´ ·¤ô â×Ûææ§°Ð

What is dissolution of company ? Discuss
various methods of dissolution of company.

¥Íßæ / OR

·¤`ÂÙè ·¤è â¢»ÆUÙ âð @Øæ ¥æàæØ ãñU? ç·¤âè
·¤`ÂÙè ·¤è â¢»ÆUÙæ ç·¤â Âý·¤æÚU ·¤è ÁæÌè ãñU?

What is meant by management of a
company ? How is the management of a
company acquired ?

§·¤æ§ü / Unit-III

3. çßçÙ×Ø âæŠØ çßÜð¹ ¥çÏçÙØ× ·ð¤ ¥ÙéâæÚU
ÂçÚUÂ@ßÌæ @Øæ ãñU? çßçÙ×Ø âæŠØ çßÜð¹ ·¤è
ÂçÚUÂ@ßÌæ ·¤è »‡æÙæ ·ð¤ çÜ° çÙØ×ô´ ·¤æ ß‡æüÙ
·¤èçÁ°Ð

( 2 )
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What is Maturity according to Negotiable
Instruments Act ? State the rules for
calculating maturity of Negotiable Instruments.

¥Íßæ / OR

çßçÙØ× çßÂ˜æ ·¤ô ÂçÚUÖæçáÌ ·¤èçÁ°Ð §â·¤è
çßàæðáÌæ¥ô´ ·¤ô â×Ûææ§° ÌÍæ §â·¤è âè×æ°¡
ÕÌæ§°Ð

Define a Bill of Exchange. Explain its
characteristics and state its limitations.

§·¤æ§ü / Unit-IV

4. çßçÙ×Ø âæŠØ çßÜð¹ ·¤è ÂýSÌéçÌ âð ¥æÂ·¤æ @Øæ
¥æàæØ ãñU? Öé»ÌæÙ ·ð¤ çÜ° ÂýSÌéÌ âð â`Õç‹ÏÌ
çÙØ×ô´ ·¤æ ß‡æüÙ ·¤èçÁ°Ð

What do you mean by presentation of
Negotiable Instruments ? Discuss rules
regarding presentation for payment.

¥Íßæ / OR

¿ð·¤ ·ð¤ ÚðU¹æ¢·¤Ù âð ¥æÂ·¤æ @Øæ ¥æàæØ ãñU? ·é¤ÀU
©UÎæãUÚU‡æ ÎèçÁ°Ð ÚðU¹æ¢·¤Ù ·ð¤ ÂýÖæß ¥õÚU ©UgðàØ
@Øæ ãñ´ U?

What is meant by crossing of a cheque ? Give
some specimen of the same. What are the
effects and objects of such crossing ?



( 4 )
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§·¤æ§ü / Unit-V

5. ÖæÚUÌèØ ÂýçÌÖêçÌ °ß¢ çßçÙ×Ø ÕôÇüU (âðÕè) ·ð¤
â¢»ÆUÙ, ©UgðàØ ÌÍæ ·¤æØü-Âý‡ææÜè ·¤ô çßSÌæÚU âð
â×Ûææ§°Ð

Explain in detail the objectives, organisation
and working procedure of Security and
Exchange Board of India (SEBI).

¥Íßæ / OR

ÖæÚUÌèØ ÂýçÌÖêçÌ °ß¢ çßçÙ×Ø ÕôÇüU ·ð¤ »ÆUÙ,
·¤ÌüÃØô´ °ß¢ ·¤æØôZ ·¤æ ß‡æüÙ ·¤èçÁ°Ð

Describe the constitution, duties and functions
of Security and Exchange Board of India
(SEBI).

———


